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(1)  All questions are compulsory.
(2) Each question carries 15 marks.
(3) Draw neat diagrams wherever necessary.

Explain any two of the following :—
(a) Output- price determination by Cartels.
(b) Dominant firm Price Leadership model.
(c) Prisoner’s Dilemma.

Discuss any two of the following :—
(a) Factor Price determination with imperfect product market and perfect factor market.
(b) Theory of Economic rent.
(c) Role of collective bargaining in determination of wages.

Elaborate on any two of thefolléwing :—
(a) General Equilibrium and-its Existence.
(b) Idea of Pareto optimality using/the Edgeworth box diagram.
(c) Arrow’s Impossibility Theorem.

Describe any two of the following =
(a) Howasymmetry of information leads the market for lemons.
(b) The problem of adverse selection in the context of insurance market and market for credit.
(b) The Principal-Agent Problem.

Write short notes on any three of the following :—
(a) Cournot’ Model
(b) Risk, uncertainty theory of profits
(c) Kaldor-Hicks Compensation Criterion
(d)  Market signalling
(f) Efficiency Wage Theory.
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